Bases de Dados — Folha de Respostas

15/Abr/2015 - 17:15 DI/FCT/UNL, 1° Teste, 2014/15, Duracao: 2h Teste:

Nome: Numero:
PARTE 1

1.1

SELECT DISTINCT IdR, NomeR
FROM cpostais NATURAL INNER JOIN restaurantes
INNER JOIN premios USING (IdR)
WHERE Estrelas=3 AND Localidade='Coimbra' AND Ano BETWEEN 2000 AND 2010

1.2

SELECT IdC, NomeC, SUM(Estrelas)

FROM premios NATURAL INNER JOIN chefes
GROUP BY IdC, NomeC

ORDER BY SUM(Estrelas) DESC

L3

l-lIdR,NomeR(rest‘u"'rantes) X (nIdR,Ano(aEstrelas:3(premios)) - nAno(premios))

1.4

P < premios
T <« restaurantes

Il; 1drrNomeR | Op1dR=r1ar| TX| O plIdR=p.JdRA (Pxpm(l’))
Apl.Estrelas=p.EstrelasA
pl.Ano=p.ano+1

PARTE 11
Modelo| I1.1 | I1.2 | 11.3 | IL.4 | IL.5 | I1.6 | I1.7 | I1.8 | 11.9 |I1.10
adbadca|] C J M| G C A | D J L | W
adbadch| C L O I L J L T B | W
adbadcc| C K| N|H|G E I O P | W
adbadedf C | M | P J RIN|Q|E|F | W




